Parish Number	Parish	Total Commitments	Total Recurring Projections	Total Giving	This Year Donors	This Year Average Gift	This Year Goal	This Year % to Goal	This Year Compared to Goal	Last Year Total Giving	Difference \$ Over Last Year	Last Year Donors	Difference Donors Over Last Year
1101	Basilica of the Assumption	\$77,560		\$77,560	107	\$725	\$54,127	143%	\$23,432.5	\$58,342	\$19,217.5	64	43.0
1102	St. Alphonsus	\$22,223	\$100	\$22,323	20	\$1,116	\$29,658	75%	\$-7,335.0	\$14,643	\$7,680.0	20	0.0
1112	St. Veronica	\$1,075		\$1,075	5	\$215	\$11,323	9%	\$-10,248.0	\$2,045	\$-970.0	13	-8.0
1204	St. Bernardine	\$19,665	\$25	\$19,690	58	\$339	\$81,700	24%	\$-62,010.0	\$17,792	\$1,898.0	45	13.0
1208	New All Saints	\$3,777	\$50	\$3,827	21	\$182	\$43,074	9%	\$-39,247.0	\$5,405	\$-1,578.0	26	-5.0
1209	St. Ambrose	\$7,423		\$7,423	31	\$239	\$27,330	27%	\$-19,907.0	\$3,420	\$4,003.0	10	21.0
1212	Cathedral of Mary Our Queen	\$162,292	\$125	\$162,417	186	\$873	\$178,647	91%	\$-16,230.3	\$174,253	\$-11,836.3	143	43.0
1301	SS. Philip and James	\$31,560		\$31,560	60	\$526	\$29,773	106%	\$1,787.0	\$17,270	\$14,290.0	37	23.0
1305	St. Matthew	\$19,080	\$75	\$19,155	45	\$426	\$89,003	22%	\$-69,848.0	\$8,831	\$10,324.0	49	-4.0
1312	Our Lady of Fatima	\$9,908		\$9,908	66	\$150	\$30,538	32%	\$-20,630.0	\$6,390	\$3,518.0	29	37.0
1315	Sacred Heart of Jesus/Sagrado Corazon de Jesus	\$16,224	\$50	\$16,274	94	\$173	\$37,053	44%	\$-20,779.0	\$9,419	\$6,855.0	82	12.0
1401	St. Athanasius	\$19,536	\$470	\$20,006	67	\$299	\$34,096	59%	\$-14,090.0	\$18,664	\$1,342.0	60	7.0
1405	Catholic Community of South Baltimore	\$85,332		\$85,332	84	\$1,016	\$49,658	172%	\$35,674.0	\$80,413	\$4,919.0	81	3.0
1406	St. Vincent de Paul	\$14,830		\$14,830	28	\$530	\$21,186	70%	\$-6,355.8	\$90,935	\$-76,104.3	48	-20.0
1407	St. Leo	\$1,860		\$1,860	6	\$310	\$26,856	7%	\$-24,996.0	\$16,755	\$-14,895.0	12	-6.0
1411	Holy Rosary	\$24,353		\$24,353	68	\$358	\$16,356	149%	\$7,997.0	\$13,374	\$10,979.0	63	5.0
1412	St. Casimir Parish at Canton and Patterson Park	\$25,228	\$240	\$25,468	85	\$300	\$37,538	68%	\$-12,070.0	\$29,330	\$-3,862.0	90	-5.0
1417	St. Francis Xavier	\$64,795		\$64,795	40	\$1,620	\$43,923	148%	\$20,872.0	\$6,640	\$58,155.0	46	-6.0
1419	St. Ignatius	\$89,233	\$30	\$89,263	144	\$620	\$45,867	195%	\$43,396.0	\$70,845	\$18,418.0	117	27.0
2101	St. Clement - Lansdowne	\$15,574		\$15,574	64	\$243	\$21,409	73%	\$-5,835.0	\$11,090	\$4,484.0	64	0.0
2103	Our Lady of Victory (Arbutus)	\$19,013		\$19,013	88	\$216	\$83,117	23%	\$-64,104.0	\$10,660	\$8,353.0	58	30.0
2104	St. Mark - Catonsville	\$72,737	\$300	\$73,037	158	\$462	\$75,853	96%	\$-2,816.0	\$75,576	\$-2,539.0	175	-17.0
2105	St. Agnes - Catonsville	\$41,048	\$30	\$41,078	77	\$533	\$55,020	75%	\$-13,942.0	\$35,315	\$5,763.0	67	10.0
2108	St. Alphonsus Rodriguez - Woodstock	\$58,611		\$58,611	111	\$528	\$46,576	126%	\$12,035.0	\$63,925	\$-5,314.0	108	3.0
2109	Holy Family- Randallstown	\$44,680	\$100	\$44,780	114	\$393	\$41,394	108%	\$3,386.0	\$39,530	\$5,250.0	82	32.0
2110	St. Charles Borromeo (Pikesville)	\$33,635	\$115	\$33,750	80	\$422	\$30,476	111%	\$3,274.0	\$33,385	\$365.0	72	8.0
2112	Our Lady of the Angels (Charlestown)	\$31,110		\$31,110	105	\$296	\$32,132	97%	\$-1,022.0	\$31,480	\$-370.0	102	3.0
2113	St. Gabriel - Woodlawn	\$28,020		\$28,020	82	\$342	\$32,783	85%	\$-4,763.5	\$13,910	\$14,109.5	35	47.0
2114	Holy Korean Martyrs	\$6,945		\$6,945	24	\$289	\$40,307	17%	\$-33,362.0	\$8,570	\$-1,625.0	35	-11.0
2201	Sacred Heart - Glyndon	\$133,430	\$125	\$133,555	361	\$370	\$139,156	96%	\$-5,601.2	\$132,784	\$770.8	319	42.0

2202	Church of the Nativity	\$406,438	\$100	\$406,538	112	\$2,448	\$401,538	101%	\$5,000.0	\$426,679	\$-20,141.0	390	-284.0
2203	Our Lady of Grace (Parkton)	\$68,940	\$150	\$69,090	121	\$571	\$55,198	125%	\$13,892.0	\$50,265	\$18,825.0	114	7.0
2204	St. Joseph - Texas- Cockeysville	\$217,184	\$195	\$217,379	319	\$681	\$149,590	145%	\$67,789.0	\$169,788	\$47,591.2	314	5.0
2205	Church of the Immaculate Conception - Towson	\$113,984	\$143	\$114,127	158	\$722	\$100,036	114%	\$14,091.0	\$115,390	\$-1,263.4	212	-54.0
2207	Immaculate Heart of Mary (Baynesville)	\$57,442	\$112	\$57,554	84	\$685	\$60,520	95%	\$-2,966.0	\$44,769	\$12,785.0	127	-43.0
2209	St. Isaac Jogues	\$53,969	\$145	\$54,114	161	\$336	\$77,756	70%	\$-23,642.0	\$43,943	\$10,171.3	134	27.0
2210	St. Ursula	\$40,287	\$200	\$40,487	145	\$279	\$64,750	63%	\$-24,262.9	\$46,522	\$-6,035.1	153	-8.0
2211	St. Michael the Archangel - Overlea	\$25,582		\$25,582	130	\$197	\$67,029	38%	\$-41,447.0	\$15,757	\$9,825.0	74	56.0
2212	St. Joseph - Fullerton	\$84,180	\$190	\$84,370	338	\$250	\$133,740	63%	\$-49,370.0	\$76,202	\$8,168.5	303	35.0
2214	Catholic Community of St. Francis Xavier	\$46,461	\$125	\$46,586	85	\$548	\$79,913	58%	\$-33,327.0	\$161,041	\$-114,455.4	91	-6.0
2303	Our Lady, Queen of Peace (Middle River)	\$21,230		\$21,230	72	\$295	\$55,677	38%	\$-34,447.0	\$19,010	\$2,220.0	80	-8.0
2304	Our Lady of Mt. Carmel - Middle River	\$24,842		\$24,842	85	\$292	\$51,328	48%	\$-26,486.0	\$20,719	\$4,123.5	63	22.0
2305	St. Clare (Essex)	\$4,365		\$4,365	6	\$728	\$31,327	14%	\$-26,962.0	\$15,220	\$-10,855.0	41	-35.0
2307	Our Lady of Hope (Dundalk)	\$23,727		\$23,727	100	\$237	\$73,454	32%	\$-49,727.2	\$11,531	\$12,195.8	56	44.0
2311	Our Lady of La Vang	\$11,512		\$11,512	17	\$677	\$11,362	101%	\$150.0	\$12,420	\$-908.0	16	1.0
2401	St. Mark - Fallston	\$98,230	\$50	\$98,280	226	\$435	\$91,369	108%	\$6,911.0	\$96,155	\$2,125.0	232	-6.0
2402	St. Margaret - Bel Air	\$143,244	\$15	\$143,259	418	\$343	\$199,163	72%	\$-55,904.0	\$155,423	\$-12,164.0	402	16.0
2403	St. Ignatius - Hickory	\$94,898	\$100	\$94,998	310	\$306	\$155,923	61%	\$-60,925.0	\$95,026	\$-28.3	279	31.0
2404	St. Mary of the Assumption - Pylesville	\$45,215		\$45,215	125	\$362	\$45,194	100%	\$21.0	\$43,985	\$1,230.0	116	9.0
2405	Church of the Holy Spirit - Joppa	\$28,542	\$100	\$28,642	80	\$358	\$19,514	147%	\$9,128.0	\$26,785	\$1,857.0	79	1.0
2406	Prince of Peace, Edgewood	\$3,745	\$25	\$3,770	13	\$290	\$16,736	23%	\$-12,966.0	\$6,360	\$-2,590.0	24	-11.0
2407	St. Francis de Sales - Abingdon	\$44,333	\$185	\$44,518	119	\$374	\$64,855	69%	\$-20,337.0	\$42,100	\$2,418.0	101	18.0
2408	St. Joan of Arc - Aberdeen	\$45,498	\$75	\$45,573	97	\$470	\$39,445	116%	\$6,127.8	\$44,279	\$1,294.1	70	27.0
2409	St. Patrick - Havre de Grace	\$45,417	\$30	\$45,447	96	\$473	\$48,776	93%	\$-3,329.1	\$43,260	\$2,187.0	88	8.0
2410	St. John the Evangelist Long Green Valley	\$176,943	\$65	\$177,008	170	\$1,041	\$79,920	221%	\$97,088.2	\$92,719	\$84,289.4	152	18.0
2411	St. Stephen - Bradshaw	\$49,555	\$100	\$49,655	155	\$320	\$72,405	69%	\$-22,750.0	\$42,022	\$7,633.0	145	10.0
2501	Resurrection of Our Lord - Laurel	\$40,637	\$20	\$40,657	125	\$325	\$32,434	125%	\$8,223.0	\$38,827	\$1,830.0	162	-37.0
2502	St. Lawrence Martyr - Jessup	\$39,377	\$20	\$39,397	105	\$375	\$48,435	81%	\$-9,038.0	\$45,050	\$-5,653.0	110	-5.0

0.500					I								
2503	St. Bernadette (Severn)	\$34,387		\$34,387	107	\$321	\$68,111	50%	\$-33,724.0	\$38,888	\$-4,501.0	128	-21.0
2504	St. Joseph - Odenton	\$86,722		\$86,722	191	\$454	\$67,567	128%	\$19,155.5	\$89,929	\$-3,206.2	212	-21.0
2505	Our Lady of the Fields (Millersville)	\$218,205	\$260	\$218,465	338	\$646	\$127,500	171%	\$90,964.7	\$216,267	\$2,197.9	307	31.0
2506	St. Elizabeth Ann Seton - Crofton	\$109,768	\$200	\$109,968	218	\$504	\$105,500	104%	\$4,468.0	\$98,637	\$11,331.0	208	10.0
2507	St. Philip Neri - Linthicum	\$68,446	\$10	\$68,456	231	\$296	\$76,327	90%	\$-7,871.0	\$54,747	\$13,708.9	225	6.0
2508	Christ the King	\$35,093		\$35,093	118	\$297	\$64,952	54%	\$-29,859.0	\$35,020	\$73.0	118	0.0
2511	St. Jane Frances de Chantal (Pasadena)	\$53,217	\$45	\$53,262	149	\$357	\$57,782	92%	\$-4,520.0	\$42,709	\$10,552.6	142	7.0
2512	Our Lady of the Chesapeake (Lake Shore)	\$43,515		\$43,515	112	\$389	\$60,379	72%	\$-16,864.0	\$42,505	\$1,010.0	110	2.0
2513	St. John the Evangelist - Severna Park	\$187,827	\$200	\$188,027	449	\$419	\$187,187	100%	\$840.0	\$161,213	\$26,813.6	370	79.0
2514	St. Andrew by the Bay (Cape Saint Claire)	\$111,188	\$275	\$111,463	184	\$606	\$91,675	122%	\$19,788.4	\$98,073	\$13,390.4	168	16.0
2515	St. Mary - Annapolis	\$388,154	\$390	\$388,544	450	\$863	\$246,140	158%	\$142,404.4	\$325,992	\$62,552.7	331	119.0
2516	Our Lady of Perpetual Help - Edgewater	\$14,165		\$14,165	46	\$308	\$34,863	41%	\$-20,698.0	\$20,271	\$-6,106.0	82	-36.0
2517	Holy Family- Davidsonville	\$137,132		\$137,132	194	\$707	\$115,194	119%	\$21,938.0	\$136,225	\$907.0	210	-16.0
2518	Our Lady of Sorrows (Owensville)	\$41,018		\$41,018	63	\$651	\$45,284	91%	\$-4,266.0	\$39,210	\$1,808.0	64	-1.0
3101	St. Peter the Apostle - Oakland	\$24,617	\$125	\$24,742	76	\$326	\$22,996	108%	\$1,746.0	\$29,404	\$-4,662.0	83	-7.0
3108	Divine Mercy Parish	\$24,805		\$24,805	83	\$299	\$64,368	39%	\$-39,563.0	\$31,985	\$-7,180.0	116	-33.0
3116	Our Lady of the Mountains	\$56,254		\$56,254	203	\$277	\$106,386	53%	\$-50,132.0	\$40,294	\$15,960.3	165	38.0
3201	St. Peter - Hancock	\$7,010		\$7,010	30	\$234	\$14,748	48%	\$-7,738.0	\$7,363	\$-352.6	24	6.0
3202	St. Michael - Clearspring - Williamsport	\$961		\$961	7	\$137	\$3,461	28%	\$-2,500.0	\$3,565	\$-2,604.0	9	-2.0
3203	St. Augustine - Williamsport	\$8,300		\$8,300	20	\$415	\$9,292	89%	\$-992.0	\$5,830	\$2,470.0	15	5.0
3204	St. Joseph - Hagerstown	\$17,896		\$17,896	67	\$267	\$27,666	65%	\$-9,770.0	\$12,217	\$5,679.0	91	-24.0
3205	St. Mary - Hagerstown	\$51,852		\$51,852	170	\$305	\$62,066	84%	\$-10,214.0	\$49,663	\$2,189.0	132	38.0
3206	St. Ann - Hagerstown	\$53,885	\$35	\$53,920	127	\$425	\$68,435	79%	\$-14,515.0	\$56,958	\$-3,038.4	139	-12.0
3207	St. James - Boonsboro	\$5,320		\$5,320	22	\$242	\$14,688	36%	\$-9,368.0	\$5,515	\$-195.0	27	-5.0
3208	St. Francis - St. Mary (St. Francis of Assisi - Brunswick)	\$3,145		\$3,145	10	\$315	\$6,420	49%	\$-3,275.0	\$4,180	\$-1,035.0	10	0.0
3210	St. Joseph-On Carrollton Manor- Buckeystown	\$67,710	\$500	\$68,210	164	\$416	\$72,403	94%	\$-4,193.0	\$60,100	\$8,110.0	160	4.0

3211	St. Ignatius Loyola - Urbana	\$86,286	\$165	\$86,451	218	\$397	\$83,179	104%	\$3,272.0	\$52,840	\$33,611.0	123	95.0
	(Frederick)	. ,	·	. ,			, ,		. ,	. ,	, ,		
3212	St. John the Evangelist-	\$100,015	\$525	\$100,540	241	\$417	\$114,220	88%	\$-13,680.1	\$89,544	\$10,995.9	228	13.0
	Frederick	\$100,013	\$323	\$100,540	271	φ+17	\$114,220	00 70	\$ 15,000.1	409,944	\$10,555.5	220	15.0
3213	St. Timothy -	\$36,256	\$50	\$36,306	154	\$236	\$60,443	60%	\$-24,137.1	\$34,820	\$1,485.9	174	-20.0
3214	Walkersville St. Peter -												
	Libertytown	\$62,703	\$125	\$62,828	149	\$422	\$100,602	62%	\$-37,774.0	\$80,399	\$-17,571.0	169	-20.0
3215	Our Lady of Mt. Carmel -	\$5,470	\$10	\$5,480	30	\$183	\$12,142	45%	\$-6,662.0	\$6,750	\$-1,270.0	37	-7.0
	Thurmont	φ 3, τ70	\$10	\$5, +00	30	\$105	\$12,142	75 /0	\$ 0,002.0	\$0,750	φ 1,270.0	37	7.0
3216	St. Anthony	+7.025		+7.025	2.1	+272	+16 620	470/	+ 0 705 0	+4.100	+2 725 0	1.0	F 0
	Shrine- Emmitsburg	\$7,835		\$7,835	21	\$373	\$16,620	47%	\$-8,785.0	\$4,100	\$3,735.0	16	5.0
3217	St. Joseph -	\$18,135	\$20	\$18,155	55	\$330	\$31,727	57%	\$-13,572.0	\$15,143	\$3,012.0	53	2.0
3218	Emmitsburg Holy Family	Ψ10,133	Ψ20	Ψ10,133	33	Ψ330	Ψ31,727	37 70	Ψ 13,372.0	Ψ13,113	Ψ3,012.0	33	2.0
3210	Catholic	\$54,372	\$170	\$54,542	218	\$250	\$79,323	69%	\$-24,781.5	\$41,459	\$13,082.3	173	45.0
2210	Community		·			·							
3219	St. Katharine Drexel	\$106,923	\$250	\$107,173	306	\$350	\$99,420	108%	\$7,753.0	\$88,183	\$18,990.4	305	1.0
3301	St. Joseph -	\$29,340		\$29,340	68	\$431	\$24,136	122%	\$5,204.0	\$26,675	\$2,665.0	76	-8.0
3302	Taneytown St. Bartholomew -												
3302	Manchester	\$21,490	\$10	\$21,500	111	\$194	\$48,744	44%	\$-27,244.0	\$24,111	\$-2,611.0	125	-14.0
3303	St. John - Westminster	\$169,606	\$75	\$169,681	319	\$532	\$150,730	113%	\$18,951.0	\$155,621	\$14,060.4	360	-41.0
3304	St. Joseph -	#170 CF7	#2 F	¢170.693	212	±044	#12C 212	1.420/	¢E2 260 2	¢147.027	#21 7FF C	201	12.0
2205	Sykesville	\$179,657	\$25	\$179,682	213	\$844	\$126,313	142%	\$53,369.3	\$147,927	\$31,755.6	201	12.0
3305	St. Michael - Poplar Springs -	\$106,845	\$160	\$107,005	203	\$527	\$102,731	104%	\$4,274.0	\$99,757	\$7,248.0	200	3.0
	Mount Airy	Ψ200/0.15	4100	Ψ107/000		+0=/	¥202// 02	20.70	4 ./=/5	4257.5.	4772.000		5.0
3306	St. Louis - Clarksville	\$315,849		\$315,849	431	\$733	\$196,360	161%	\$119,489.2	\$303,029	\$12,819.9	379	52.0
3307	St. John the												
	Evangelist -	\$176,871	\$15	\$176,886	288	\$614	\$151,492	117%	\$25,393.9	\$145,427	\$31,458.7	249	39.0
3308	Columbia Church of the												
	Resurrection -	\$206,965	\$550	\$207,515	295	\$703	\$159,052	130%	\$48,463.0	\$198,655	\$8,860.0	276	19.0
3309	Ellicott City St. Paul - Ellicott												
3309	City	\$80,255	\$200	\$80,455	152	\$529	\$64,400	125%	\$16,055.0	\$61,320	\$19,135.0	121	31.0
3310	Our Lady of	#120 41F	4164	#120 F70	225	4547	4112.061	1140/	41F C17 7	¢121.012	* C CC7 0	227	2.0
	Perpetual Help - Ellicott City	\$128,415	\$164	\$128,579	235	\$547	\$112,961	114%	\$15,617.7	\$121,912	\$6,667.0	237	-2.0
3311	Catholic												
	Community of Ascension and St.	\$53,310	\$200	\$53,510	109	\$491	\$105,423	51%	\$-51,913.0	\$76,525	\$-23,014.5	131	-22.0
	Augustine												
3312	St. Francis of	\$77,174	\$75	\$77,249	166	\$465	\$60,512	128%	\$16,737.0	\$60,196	\$17,053.0	131	35.0
9999	Assisi - Fulton Unrestricted												
	Funds	\$266,429	\$170	\$266,599	398	\$670	\$0		\$266,599.4	\$270,958	\$-4,358.3	281	117.0
		\$7,377,327	\$9,029	\$7,386,305	14,379	\$505	\$7,535,236	96%	\$-272,559.0	\$7,199,530	\$63,147.2	14,374	5.0